)

2)

3)

4)

Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for use in school based SA-II, March-2012
only. This question paper is not to be used for any other purpose except
mentioned above under any circumstances.

The intellectual material contained in the question paper is the exclusive property
of Central Board of Secondary Education and no one including the user school is
allowed to publish, print or convey (by any means) to any person not authorised
by the board in this regard.

The School Principal is responsible for the safe custody of the question paper or
any other material sent by the Central Board of Secondary Education in
connection with school based SA-II, March-2012, in any form including the print-
outs, compact-disc or any other electronic form.

Any violation of the terms and conditions mentioned above may result in the

action criminal or civil under the applicable laws/byelaws against the
offenders/ defaulters.

Note:

Please ensure that these instructions are not printed with the
question paper being administered to the examinees.
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SUMMATIVE ASSESSMENT -11, 2012 47029
Gehtera udrerr - 11, 2012

SCIENCE / fag=
Class - IX /o8&l - IX

Time allowed : 3 hours Maximum Marks : 90

fuifta = : 3 9ue Jfereran 3 : 90

General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

(if) All questions are compulsory.

(iif)  There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

(iv)  All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Questions number 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

(vi)  Questions number 4 to 7 in Section-A are two marks questions. These are to be answered in
about 30 words each.

(vii)  Questions number 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

(viii) Questions number 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

(ix)  Questions number 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

qrar= 9T

() T LT T I G U, UEI-3T 3T WEI-a H Fier 1 SMIh! SHI WFT ok el ok S fawn €

(i) Ay erfremd ¥ |

(i) T WA T R HE T WH T § g WE-UE SR F uE g o ofiad =ee femm e )
T U H 379 hael Teh il =197 o1 SR fera & fau <0 oehd €|

(iv)  STURI WMT-37 3R WFI-& & Gt T & IR JIR-Jok o 8 |

(v)  WTI-37 % T &A1 19 3 % YT Ueh-Teh 3{ch o & | STk S Ueh YIag 1ol Weh ATk § & |

(vi)  WFT-31 % Y¥T T 4 9 7% U S1-aF 3{ehl & & | Tk ST AN 30-30 9Tl H <

(vi) ~ WTT-37 % YT H&A 8 § 19 F T -1 ekl o & | Tk ST T 50-50 I1&at H <7 T |

(viii) ~HTT-3T % W¥T HEAT 20 § 24 % Y YTA-UT= 3Wehi o & | Tk ST I 70 9Tagl H < ¥ |

(ix) WT-& & U HEAT 25 § 42 F YT FANTCHS hivel W ARG sgfahedt U9 €1 J&h WA
Teh 3k H1 | U T =R faeredl # & Ukl hadl Tk Fod 39ga foehed 1 § |
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SECTION-A / WRT-37

State the Law of constant proportion.

e 3TUId &1 99 e IS |

Name an organism whose heart is two chambered.

T Y St o1 7 ety fsoen gea fgmeiia ®1

Name the free living nitrogen fixing bacteria. 1

WA ®9 W T arel ¢ TEeie Reekietor’! i 9t seRiEr w1 Am fafay

Write one point of difference between bony fish and cartilagenous fish with one 2
example of each.

Teh-Ueh 3QTeLUT foa@rd gU ST Haell a1 U™y Aol H S T i |

(@) Whatis an epidemic disease ?

(b)  Which organ is affected if a person is suffering from jaundice ?

(a) HEMN FT?

(b) afc =i =fR difean & difed & T ST M §1 S gifed 8 8 ?

Define Relative Density. 2

Arrange the following in increasing order of their relative density.
Iron, air, water.

SATfeteh B i gy fafeT |
T feu T gerelf o1 STufeTe S o ded A H SFafked Hifag
3TRIA, 91, 57 |

When do you say that the work done by the force on the object is 2
(@) positive (b) negative ?

T el hed § b fohelt o W fohan T vl © -
(@) R (b)  FRUTHE

(@) Calculate the mass of 0.72 g molecule of CO,,. 3
(Atmass of C=12u, O=16 u)

(b) Calculate the number of moles of iron in iron sheet containing 10%* atoms of
iron.

(@)  CO,% 0.72 S 1 goaHH URehferd hifory |
(T g C=12u,O=16u)

(b) T ARA M (AR w1 =) Forem 107 ST o RAm] § 3HH STRRA & Hiell i
e gfienfad Hifs |
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10.

11.

12.

The following data represents the distribution of electrons, protons and neutrons in

atoms of four elements A, B, C, D :

ELEMENT PROTONS NEUTRONS ELECTRONS
A 10 10 10
B 11 12 11
C 12 12 12
D 13 14 13
Answer the following questions :
(@) Write the electronic distribution in atoms of element A and D.

(b) Element A is an inert gas. Why ?
() What is the valency of element C ?

= feu U 3TikRe =R @i A, B, C A1 D | sciggl, oMl adl =gl o1 foaao foan ®

g
| FICAE] 2 TR
A 10 10 10
B 11 12 11
C 12 12 12
D 13 14 13
frafafea w1 & SWw fafat :

(a) TF A SR D % TV § serae foa fafan |
(b) T A FfRa M T FHRo AR
() T C ! GarSTohdl 18 ?

State two postulates of Bohr’s Model of an atom. Draw a diagram of Bohr’s model of
an atom where K and L shells are full.

ied 9k g1 fSU T 9A] Afed & A SEURUMT fAf@w | &R & WA Afed & oo
FET o K TR L 1 gofd: St gu €

Explain the following terms :-

(@)  Phanerogams (b) Symbiosis (c) Binomial Nomenclature
==l few 7Y 9ei <t e HINT
() TEm (b) EESifaar () feue-"musia

Write appropriate term for the following statements :-

(@) Animals that are able to maintain a certain body temperature over a wide
range of temperature.

(b) Plants which bear naked seeds.

() Animals which have pseudocoelom.

= fo e SR % fou ST v fafe

(a) o1& Siq S =k quHE IRER T off 319 TR ok Tfv=a aemE ot oA e |
mef €1

(b) ~ TIAeltsI 9

() e Sig oo hediam @ S 2 |
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13.

14.

15.

~_ N /N /S /N
0 o
~ O

Why taking an antibiotic is not effective in the common cold ?

Name two diseases against which infants below one year are vaccinated.

List two symptoms of any one of these diseases.

TR b H gfasifas guret o7 =& 2 € 2

forpetl 1 8 U SRl & M fafee e faw 1 96 9 %9 o1 § ek amn
ST & |

oY O gt us Siudt & <1 aewn fafan)

A camel walks easily on sand but a man cannot. Give reason. 3
Why does a block of plastic released under water come up to the surface of
water ?

T 32 T R ST o Hohel & Sk T a1, PR fafau |
T o R Rt Wi % e S Bied W IE UM & IS T T ST ST § 2

A body of mass ‘m’ is raised to a vertical height ‘h’ through two different
paths. What will be the potential energy of the body in both the cases given
below ?

(i) (i)

N

2

A A

An object of mass 12 kg is at a certain height above the ground. If the
potential energy of the object is 2880 ], find the height to which the object is

moved with respect to the ground (g=10 m/s’) ]
‘m’ TEHH F TH %] FI 3 fafq= qeli g1 Feafer ‘b e ae 33T S g

1 e T ST gl o feafas St A wifs)
(i) (i)
B B

A

A4
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16.

17.

18.

19.

20.

(b) 12 kg §FHM &I TH o5 JfF § F© o€ W feom §1 afe awg =1 frafas
St 2880 ] © A T HISTC fof ar%g T ffF § = fRaft €2 (g=10 m/s)

a) Define kinetic energy.
b) Derive an expression for kinetic energy.

(

(

(@) TGS el skl 9 fafe )

(b) TSI Sst o ToTT =sTeh Sgeq= i |

(@) Name the three bones in our middle ear which help in amplification of the
vibrations of sound.

(b) What is the audible range of average human ear ?

() Name the part in humans’ inner ear which helps in converting pressure

variations into electrical signals.

(a) 9 HU Y foEmE dF efgdi o T faiee ST et o HEEl S Hel 5 [ 990
EGIRY

(b) W OIS % I o (oTT ST 1 URER T 7 ?

(c) A3E % AlaRes ol H IuMEd 39 AW o1 AW faf@n, s safq & a4l & @
RedH1 ol e farel | e S|

Design an activity to show how convection currents are set up in the air and what is
the nature of these currents.

Gagd gRIS i Yhid I S L1 9 H AR o1 A ok foIw hrE fohamehed fesmed
SIS |

List two forms of oxygen found in the atmosphere. Name the process(s) by which
(i) oxygen from the atmosphere is used up.
(ii) oxygen is returned to the atmosphere.

YA H IRt SH areft siedisE % 91 &9 fafaw) 39 gfwansti s am fafen 5k
sl
i) Uhfa o SIS 1 STET ST ¥ |

(i
(i)  SieS agHved | oTqg A ¥
(@) Write the chemical formulae of the following compounds :

(i) Zinc sulphate (if) Magnesium chloride
(b) When 3.0 g of carbon is burnt in 8.0 g of oxygen 11.0 g of CO, is formed.
What mass of carbon dioxide will be formed, when 3.0 g of carbon is burnt in
50.0 g of oxygen. Which law of chemical combination will govern your
answer ? State the law.

@) fAfafaa difme & TuEt g fafa
() 5% ache (i)  HIREE FwNEe
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21.

22.

(b) 3.0 g FEA 8.0 g ST H T 11.0 g Fe-<EeAiFEe M w81 5
3.0 g HTET 1 50.0 g SIS H STATE 1 fohaw T e eEsitaEe 5 ffo
2?39 ST TEEER oM o fhe fem == smafia grm? s« f=m =6
ZESCAIE L

OR/3TeraT
(@) Which of the following has more number of molecules ?
(i) 10 g Nitrogen (N,) gas
(if) 10 g Ammonia (NH,) gas
(b) A 0.24 g sample of compound of oxygen and boron was found by analysis to

contain 0.096 g of boron and 0.144 g of oxygen. Calculate the percentage
composition of the compound by weight.

(a) Tr=fafaa ¥ 9 forad oTupst 6t Gen st et ?
() 109 EESH (N,) =
(i) 10 U™ SHET(NH,) &

(b)  0.24 g SFISH T SR Ja ATw & T H foree™or gR1 98 9 T foh 3uH
0.096 g ST TH 0.144 g SRS &1 39 AR o Afqwa Hoed &l YRcHs €9 H
Gt hifsT |

Explain the following terms :

(@) Notochord  (b) Coelom (c) Bilateral symmetry
Name the phylum with one example possessing all the three characteristics.
frafafad wei =t samen HT -

(@) A& (b) B (c)  fgured wufafa

T 3SRV fored gU 39 hised i A fafae o 3 =i aramor ae S €

OR/37era
Draw a flowchart showing classification of plant kingdom. Write example at each
step wherever possible.

Il o S0l ohT TaTE o AANRGd RIS | Tedieh =10 W JUrEYd 3qe0l fafe |

(@) Define the S.I. unit of electrical energy.

(b) An electric bulb of 100 W is used for 8 hour per day. Calculate the units of
energy consumed in one day by the bulb.

() What should be the mass of a bullet if its speed is 100 m/s and it possesses a
kinetic energy of 0.1 KiloJoule ?

(a)  fomra <=1 & S.1. A st R fafem

(b) 100 W 1 Te fagqa aea 8 wve fifed 3w foran SIn 81 cdt 511 U e & @
T T8 el bl ‘Sl 1 IR hitIT |

()  Afc forel Tawa =it Tl 1 =& 100 m/s § T S9! Tiast st 0.1 fhan@ g @
SH TIIel T FeAHH 0 I

OR/37eraT
(@) Define the S.I. unit of power.
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23.

(i)

Two boys A and B each of weight 600 N climb up a rope through a height of
9 m. Boy A takes 15 s and boy B takes 25 s to accomplish this task. What is
the power expended by each boy ?

What is the work to be done to increase the velocity of a car from 36 km/h to
72 km/h if the mass of the car is 2000 kg ?

fekd o S.1. |k skl RATT shifsTe |

3 TSH A T B 70 ¥ T T YR 600 N € Toh TH W 9 m Fl SR d%h =&d
T WHFE R QU HRA T A 155 T B 25 s I THI A1 & | TAh TSHh §RI 54
! TS WfeRT ST IRehetd hifSIT |

Ffs fRE TR 1 §=AE 2000 kg © A 39k 9 &I 36 km/h § 72 km/h T seM
H fohaHT S AT TS ?

The following figure shows a wave form of frequency 50 Hz. For this wave
motion, Find :
(@) the amplitude
(b) wavelength
() velocity
(cm)

44 Fegfvrassasins A onsonmssiiin )

2

’/5\10 15 [AM 35 40

0 - Dista
\/ \// -

Derive a relationship to show how the wavelength and frequency of a sound
wave are related to its speed.

= feu u fas § 50 Hz st ) w0 el T ¥ 39 ai vfa % faw 9.
HITT :

(@) SRt

(b) TR

()  d
el

4# e e R
VA [\
5 Yo s 5 s 40
o T o @
: (=)
E

et eaft T & sreed srgfa aen =rat § ey Fouet HifaT |

OR/31¥aT
Which wave property determines
(@) loudness (b) pitch
Why are sound waves called as mechanical waves ?
What is ultrasound ? Write any two applications of ultrasound.

T T -1 71 FrAfafad i fuifd s @ -
(@) WSl (b) AR
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24,

25.

26.

27.

(i) A TN A AR T T HeT S S ?
(iii) e fRd Ped €7 A & BiE & SAwE fafew )

State various steps and processes involved in the nitrogen cycle in nature. Also show
cycling of various nutrients in this cycle.

Yehfd H ATELISH =5k <k fafs <ol v ufshansii o1 Soor@ hifTe | 29 <ok | fafus diveh
1 =0T off TR
OR / 31t

Write a note on how forests influence the quality of air, soil and water resources.

I fF8 YR a1, 91 a°1 A & AT ki T[UrE hl gHIfad wd ¥, g # feupof
fefa |

SECTION - B / WTI-&

10.0 g of CaCO, on complete decomposition gives 4.6 g of carbon dioxide. Based on
law of conservation of mass the mass of the residue left behind is :-

(@) 54¢ (b) 64g (o) 52¢g (d) 56¢g

10.0 g CaCO, 01 ¥4 | ST W 4.6 g HToI SRIHES a1 & | T TaTw % Frm
o STTIR o< U 3TaRIY 1 GAHM BT : -

(@ b54¢g (b)y 64¢g (0 b52¢g (d) 56¢g

The mass of silver nitrate which will react with 5.85 g of sodium chloride to produce
14.35g of silver chloride and 8.5 g of sodium nitrate, if the law of conservation of
mass is true, is :-

(@) 150¢g (b) 162 ¢g (c) 175¢g (d) 170¢g

afe g we & fem WE T, @ 1435 g fAee FiEe a9 8.5 g Hifean TR
ScqTfed i oh 7T THes T18de 1 Sl §o9HM 5.85 g HIlSaH FIlise 9 SA49ishal s o8

-
(@ 150¢ (b) 162g () 175¢ (d) 170¢g

Four students observed the given specimen carefully and recorded its one adaptive
feature and phylum as given below. The correct identification of the adaptive feature
and phylum of the given animal is :
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28.

(@) Moist and slimy skin, Arthropoda
(b) Moist and slimy skin, Annelida

() Streamlined body, Platyhelminthes
(d) Streamlined body, Annelida

IR BE1 A fGU T T 1 Ufea fRan iR SraeiE® 39 STImfad ae quT wEed i
= feu s1ar e fran1 fou 1o 7 & 9@t stifed a&w 9 wEaw & weE ©

(@) A 9 faufedt @@, sy (b) T o ferafedt @@=, THifere
() URRE™ IR, welferefis d)  RREE IR, THifaer

The teacher had shown a student a specimen R and asked him to find if it is
Spirogyra. The features that the student will look for the identification are.

(@) Filamentous, presence of cytoplasmic strands, presence of Pyrenoids.
(b) Presence of cones, presence of rhizoids

() cytoplasmic strands, root like rhizoids, female cones

(d) presence of filaments, nodes, internodes.

w forerh 3 T fonedt 61w T R fommn Sk et 6 O wRdieu R 7 e %
méawaﬁﬁwﬁ%@ﬂé% :
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29.

30.

31.

()  dqH, RIRERES, TS, TR

(b) M, A

(©) iR g, AT, STe % WHH HATHE, HEl S
(d) T, IO, g

Najma observed the specimen of a bony fish and pigeon and sketched them as 1
shown below. She put them in the same phylum. The feature that places them in the
same phylum is :

(@) pointed head (b)
() presence of scales (d) post anal tails

TSI 7 ST Weel! SR ek & T 99 SR A9 feu sgen faf@ fea 1 sen 3Al @
A g™ H @ 98 ATqeet, fSee SR W SEH 3% UAH hEed d W@ a © -

(©) (d) wETEE Y

Mushroom produces spores from :- 1
(@) pileus (b) gills (c) annulus (d) stipe.

TR SISI9] Sl HLT ©

(a) SERTH (b) FAHY @ U9 dg (d) SOeeEdd

Four students A, B, C and D are observing the flowers and seeds of black gram plant. 1

They have reported their observations as :-
: trimerous flowers and monocotyledonous seeds
trimerous flowers and dicotyledonous seeds
pentamerous flowers and monocotyledonous seeds
pentamerous flowers and dicotyledonous seeds
The student who has reported the correct observation is :-
(@ A (b)y B (¢ C (d D

ONw»

IR faneft A, B, C 9N D &t = & 99 H ol aen sisil T eIl R W S| S 3T
Teron bt O 39 YR < ¢
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32.

33.

[ECRIN IRIRECISEEICIE]
et et qen fgsitst oot sitst
GHRT Gt I Tk SisT Tt Sff
GEHI oot qer fgsitst oit st
mﬁmﬁwﬁ%aﬁ%

@ A (b) B © C (d D

g n <« >

When you study the development stages in the life cycle of a mosquito, you find that
the stage in which this organism feeds on animal blood is

(@) adult (b) larva (c) pupa (d)

afg a1 fereht T=st & Sfem- Waﬁﬁzﬁmﬁaaawaﬁwawﬁa‘rm%qﬁ%%

39 Sita i a8 A, 9 I8 gl o T 1 W&I01 Rl §, BT ©
(a) TI=R (b) @l © = d) evE

The following spring balances “A” and ‘B” and measuring cylinders ‘C" and ‘D’ are
used by a student to measure the density of a solid. The best combination for
obtaining optlmum result in den51ty of sohd is

UERTY 0FFY j : |
T 10
¥ 20 ‘ -
0 30
400 40 E - ’
e P B \L/ 4:—::_5.
A1) Bl (C) D]
(@) Balance A and Cylinder D (b) Balance A and Cylinder C
() Balance B and Cylinder C (d) Balance B and Cylinder D

ferel ST o1 =l T hA o Tore wep foreneft =i = e § 29T T S1ER < AR
‘A’ qen B’ 3R 31 " fafdst ‘¢ agn ‘D’ Suets T Y | S HAN gr1 S
1 FeliH GO YT &8I 98 © -
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34.

35.

——
i | g RN

S
ot e

3 + - 10 m

T -.l

[rllliw:l!unl!'\l.

3G E 30

o
40

|§1|ui|n.||

40

5{:()%—; 50
I r ‘ 1
AlD  BID (C] D)

(a)  HAMIGR el A T A9k fafeiet D
(b)  HHMICR el A qe1 H9sh fqfeet C

(c) HHMIER gefl B e Hieh fofeiet C
(d) HHMISR Jeil B de Hi9eh fafeiet D

,Trr‘[T‘!TH;[HIIilI|lillITII’liTI!”TPII[l"IH]IIlll \\‘

L

U.

To determine the density of solid, the student made the following observation. Zero
error in the spring balance is —5 gwt, observed weight of the solid in air is 30 gwt.
Volume of the solid is 10 cc. The density of the solid will be :-

(@) 3 gwt/cc (b) 25gwt/cc (o) 3.5gwt/cc  (d) 0.3 gwt/cc
T 3 I T T HA o fau, wen faenet 7 frafafea Jamr Tk fee) sarer gor @
I YfE —5 UM YR, S I ga1 H YR 30 UM 4R, 9 R 3T 10 cc. | 319 I B

(@ 3UL 9R/cc(b) 25U YR/cc () 3.57L ¥R/cc (d) 0391 ¥R/cc

During the experiment on measurement of loss in weight of a solid in tap water and
salty water, the maximum loss in weight of the solid is observed when it is :

(@) Partially immersed in tap water.

(b) Partially immersed in salty water.

() Completely immersed in tap water.
(d) Completely immersed in salty water.

Teh YART 960 319 & 9R | 3 Sl sl 9 o Sl § a0 FHE ST § A/ 7™, 9R |
SAfeRan HHT SFacllfhd i T3 59 39 Wl :

(a) AR &9 9 T o ST H A 747 |

(b) AT €9 | 5 & ST H garn |

(c)  YUiqdl 7 sk ST § gl T |

(d)  YUITH WHR o STl H ga 741 |
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36.

37.

38.

39.

If upthrust on a body in tap water and salt solution in water are Ua and Us
respectively then :

(a) Ua =Us (b) Ua>Us () Ua<Us (d) Up= 2Ua
g <& & ST T ST THR foIeTa o1 el ol shesl: U, qe U € 79
(@ Ua=Us (b) Ua>Us (c) Ua<Us (d) Us= 2Ua

While comparing the pressure exerted by the three different faces of a metal cuboid
of dimensions 10cm X 20cm X 30 cm which observation is correct ?

(a) Pressure exerted by all faces is same

(b) Pressure exerted by the face 10cmX20 cm, is maximum
() Pressure exerted by the face 10cmX30cm is maximum
(d) Pressure exerted by the face 30cmX20cm is maximum

10cm X 20cm X 30 cm Tommsd Al gr@ta =y & o fafys g g0 e e e @6t
AT LA R DI T Y&T07 T 2T 2

(@) | T8I g A T S SUE BAT |

(b)  10cm X 20cm ATl Y3 GRI AT T STl AT B |

(©)  10cm x 30cm AT I3 GRI TR T STl Tfeehad BT |
(

d)  30cm x 20cm 9T Y3 GRI ST T STl SAfefehe ™ B |

The magnitude of force which produces a pressure of 2000 Pa over a surface area of
0.02m’is

(@) 4000 N b) 40N (© 400N d) 4N
T &1 S 2000 Pa 1 S 0.02m? & &5 W Serdl §, S9ehT fHTo 81 ¢
(@) 4000 N b) 40N (© 400N d) 4N

Ashok put the pipe in below given set up to verify laws of Reflection of sound at an
angle of 40° to the reflecting surface. At what angle to QR he should keep the other
pipe to receive reflected sound distinctly :

Reflecting surface

R
@  40° (b)  50° ©  30° d  60°
e % G < el % g % fod e fed e grifites Gesta § sweiiek 3 Uiy @l
TR | W 40° | @M WEda e i T A & o 36 TR 969 & QR ¥ fd

I T TG ST ¢
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40.

41.

42,

() 30° (d) 60°

When a sound wave is reflected from a perfect surface, the characteristic of sound
that change is :

(@) pitch (b) wavelength

() frequency (d) none of the characteristics change

STa &3 st @l TRt ereel weds gqg ¥ wwEfdd St § @1 eaft & dei § S afafda
AMTATE :

(@) dRE (b) TR

() g ) wE o e ufafda T2 S 2

On what factor, the speed of propagation of a pulse in a slinky spring does not
depend ?

(@) Dimension of slinky (b) Material of slinky

()  Room temperature (d) Length of slinky

T ficit fofm # wig derer %t =t fore R Wi T2 #dt €2
(a) T&denl & smE™ (b) Teiehl 1 aare

(c) ¥ I AT9HA (d) T&ihl 1 =g

A pulse was created in a slinky of length 8 m by a group of 4 students. They

observed that it returned after reflection at the point of creation 5 times in 20 s. They

calculated the speed of pulse as follows :
Student A B C|D

Speedm/s | 04 | 24 | 2 | 4

The correct conclusion will be drawn by the student

@ A (b) B © C (d D

IR foenfei o T g 3 8 m o Tk Rt § e 3 fohan | 38R e fopen for =

TREdA o J¥E 3cq- 2 a1t foig W20 s § 5 IR 999 1% | 3= $4¢ 1 97 iehfod

e :

foremeft A | B | C
Im/s | 04 |24 | 2 | 4
g famnedt gr ot fFofa feon M ae

(@ A (b) B © C (d D
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